Which part below does not show
counting in fours?
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Explain why.

Rosie has some packs of cola which are
in a box.

Some packs have 4 cans in them, and
some packs have 8 cans in them.
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Rosie’s box contains 64 cans of pop.

How many packs of 4 cans and how
many packs of 8 cans could there be?

Find all the possibilities.
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Explain why.
Rosie has some packs of cola which are Possible answers:
in a box. o 2 packs of 4,7
acks of 8
Some packs have 4 cans in them, and i
) e 4 packs of 4, 6
some packs have 8 cans in them.
packs of 8
* 6 packs of 4,5
packs of 8
* 8 packs of 4, 4
packs of 8
* 10 packs of 4, 3
Rosie’s box contains 64 cans of pop. pack: of 8

How many packs of 4 cans and how * 12 packs of 4, 2
many packs of 8 cans could there be? packs of 8

* 14 packs of 4,1
Find all the possibilities. pack of 8



